1. This scale drawing shows the positions of two places, Sheffield and Worksop.

Shettield

Worksop

Scale : 1cmto 4 km

(@ (i) Measure the bearing of Worksop from Sheffield.

[1]
(i)  Work out the real distance between Sheffield and Worksop.
.............................. km
[2]
(b) Doncaster is 26 km from Sheffield on a bearing of 057°.
On the scale drawing above, mark and label D, the position of Doncaster.
[2]
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2.

This is a map of part of Yorkshire.
The position of each town is shown by m.

BRIDLING TON
BAY

Scale: 1 cmto 2 km

(@ What is the bearing of Flamborough Head from Bridlington?

(b)  George is cycling from Filey to Bridlington along the A165.

(i)  Estimate the real distance from Filey to Bridlington.

.......................... km
(if)  This formula gives the energy used on a cycle journey.
E=33xD<+2
where E = energy in joules
D = distance in kilometres
Work out how much energy George uses for this journey.
...................... joules

Northgate High School

[1]

(2]

(2]



3. This scale drawing shows a field, with two trees A and B.
A path crosses the field, keeping an equal distance from the two trees.

Use ruler and compasses to construct the locus of the path.
Leave in all your construction lines.

[2]
4. Here are four angles.
C

(&) Which angle is obtuse?

[1]
(b) What type of angle is angle A?

[1]
(c) Measure angle B.

[1]
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5. The map shows two viewpoints, P and Q, on an island.

N
N
Q.
J-. .

A boat is seen on a bearing of 126° from P and 208° from Q.

Construct on the map the position of the boat.
Label it B.

(3]
6. In the diagram, AB is parallel to CD.
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Not to scale
Complete each of these sentences by giving a reason.
ANGIE 8 = 58% DBCAUSE .....eeveeiieieeeieeiie ettt ettt sttt ne et see et neeenes
[1]
F AN Lo L T Al o= Tov: 101 SRS
[1]
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Not to scale

X
B C D

In the diagram, AB = AC and BCD is a straight line.

Work out angle x.
Give a reason for each step of your answer.

[5]
A
Y .
6 Not to scale
X
C D
In the diagram, ABC is a straight line.
BE is parallel to CD and BC = BD.
Angle CBD =70°.
(a) Complete this sentence.
Dot 1= o 101 SRS
[1]
(b) Findangley.
Give a reason for your answer.
Y= B 0T LU USSR
[2]
5
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Not to scale
Work out angle a.
Give a reason for each stage of your working.
Anglea=....coceviiveicnnnn. CDBCAUSE ...t s
[3]
10.
A B
C D
Not to scale
In the diagram, AB is parallel to CD.
Find angles x and y.
Give reasons for each answer.
X = e CDBCAUSE ..ttt et be e
[2]
Y= R 0T U PP
[2]
6
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11.

Find the sizes of angles a and b.
Give a reason for each answer.

12.  ABCDE is a regular pentagon.

A

D C

(@  Work out angle x.

(b) Workoutangley.
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13. Inthis diagram, FB is parallel to EC and EF is parallel to DA.
Angle EFG = 130° and angle ACD = 62°.
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Not to scale

Calculate angle y.
Show your working clearly.

(3]
14. (a) Show that the exterior angle of a regular pentagon is 72°.
P 4
. Not to
A scale
[1]
(b) Four of the interior angles of an irregular pentagon are
90°, 120°, 116° and 82°.
Calculate the size of the remaining interior angle.
(3]
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